Efficiency vs P,

- 02
o
20.18
>
20.16
o
o
20.14
0]

0.12

Ratio

0.1k
0.08
0.06
0.04
0.02

Ja)

................................................

VS

0.954

= 0.2
2
20.18
2
§0.16
o
£0.14
(]

Ratio

0.12
0.1
0.08
0.06f-
0.04f--
0.02

Vs

107 1 10 prT (Ge\})o3

—s=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO

.......................................

0.950

Efficiency vs ¢

s 0.1

¢
200
2
50.08F
o
£0.07F
[0

Ratio

0.06
0.05
0.04
0.03
0.02
0.0

Tt

IIII IIII TITT
5+’*‘5
- 5
=
(LT CRER
e
. .
el
T
eedeTE L
R Sy
e
-
e
T
+ Ln

J..hru‘.lll

TP @



	Contents
	Page 1


